HEBIEAN RS
£ E K (BT +H=FKFEMUIERMR)
EANEMEEEEEES
(B) Sf2fF4H18 (®) HM343A31H
(B : )
BERE LERBRE(A) BIERERE(B) 1ER(A)-(B)
THEERIRB NG 660, 760, 228 637, 866, 165 22, 894, 063
ZABU BN 1,459, 720 1,667, 800 -208, 080
‘g ERRESW A 193, 000 280,500 ~87, 500
ZOMDINES 0 0 0
| [|y-ezEEuREsE (1) 662, 412, 948 639, 814, 465 22,508, 483
- NG| 442,873,095 524 828,213 -81, 955,118
; ES-1 102, 623, 733 95.001, 378 7,622, 355
& E= i 99, 828, 660 88. 350, 270 11, 478,390
8| |fAEselsm 0 0 0
B 5 |0y 46,737, 349 47,502 463 765,114
’ff B | D S S R S IR -9,762, 213 -10, 263, 842 501, 629
w|  |[HmaEE 0 0 0
BURTREES M2 @A 0 0 0
ZOMOER 0 0 0
Y-EXEEBEMAET (2) 682, 300, 624 745, 418, 482 -63, 117, 858
P-CUEBMESHER (3) = (1) - (2) -19, 887, 676 ~105, 604, 017 85,716, 341
BASFI SIS 0 0 0
3 EISTREERNE 356 9,506 -9, 150
BTl 0 0 0
=llim 2z o 0 0 0
I |$& TR 25 A 0 0 0
5 5 |1 Ea T A 0 0 0
T | B 0 0 0
el |EsEE b 0 0 0
2| |eotbov-ExEBIMTE 4,428,742 3,314 114 1,114,628
= [goexEmstEt (4) 4,429,098 3,323, 620 1,105, 478
fﬁ XHFIR 4,891,172 9,431,274 -4, 540, 102
| |EMERESSETAEIE 0 0 0
W |emEssaa 0 0 0
f - =Lz it} 0 0 0
" | FHERAES TR 0 0 0
EARAE TR 0 0 0
T AR 0 0 0
ZOMOY—EAEEISNER 2,139,136 481, 321 1,657,815
H-CEBINERET (5) 7,030, 308 9,912 595 2,882, 287
H-CREBIMBRER (6) = (4) — (5) -2, 601,210 6,588, 975 3,987,765
EEEEELE (7) = (3) + (6) -22, 488, 886 -112,192, 992 89, 704, 106
MR RSB S INE 0 0 0
HEEREE RS BRI 0 0 0
EERELEALTRETHRIN 0 0 0
g B 0 0 0
B SRS 0 0 0
ZOMORERIIRES 0 0 0
;ﬁ ) 0 0 0
MY 0 0 0
| |EEamE 0 0 0
z) EEEESTAE 538 115, 897 589, 138 -473, 241
| & | DEHE RS ERET SR (RS5) 0 0 0
B | B & S BT SR 0 0 0
PiE=ES 0 0 0
ZOMORRIER 876 0 876
HFRIERET (9) 116, 773 589, 138 -472, 365
HBIEHEE (10) = (8) — (9) -116,773 -589, 138 412, 365
LHPEBNSAAELE (11) = (7) + (10) ~22, 605, 659 -112, 782,130 90, 176, 471
# | FIHAREEENERERE (1 2) 592,184,710 554, 966, 900 37,217,870
: [CmrmmEmEaEE (13) = (11) + (12) 569,579, 111 442, 184, 770 127, 394, 341
b [ExamwEEE (14) 0 0 0




HEBIEAN RS
LTHE—HRN (BT +=FKEMIARMR)
EANEMEEEEEES
(B) Sf2fF4H18 (®) HM343A31H
(B : )
BrERE WEEDRE(A) HIERERE(B) 1=5(A)-(B)
; 20O SRS (15) 0 150. 000, 000 =150, 000, 000
# |20 T4 (16) 0 0 0
)
w | REREEUEBNERERE (17) = (13) + (14) + (15) - (16) 569, 579, 111 592, 184, 770 ~22, 605, 659




